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MLOODOOODOOOOOOOO (0)

MLOOOOODODOOOODOOO (1)

let gxy=x+17y;;
val g : int -> int -> int = <fun>

OCamlO0DOCOOOODOOOODOOOOODO
gogn

let £ x=x + 1;;

let gx=funy ->x + y;;
val £ : int -> int = <fun>

let g = fun x > fun y -> x + y;;
let g = fun x > (fun y -> x + y);;

let gxy=x+1y;;
val g : int -> int -> int = <fun>

00 gO0int00xO000000funy -> x+yO000000
0oo(oooo)

e JDOUUOUUOO funy ->x +yUUint00O yOOOOOOx + y
U000 int00000000000O0int->int 00000000

000000 gd0Oint -> (Ant->int) JO0OO0O0OODOO
o [ int -> int -> int OO0 int -> (int -> int) OOO0O0OO
(0000000000000 UO0ODUCOOUOODODoOoOon)

O0fOODO int > int 00000000 ODOOODOODOOODO gO
U0 int —> int > int 000000000000 DOO0O0OO
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MLOOOOODOOOOOOOO (2) MLOOOOODOOOOOOOO (3)

0000 (Currying) D 200000000000 100000000OOO
O000(@oO0O0U020000000100000000O0O00OOOO)

g_curry U020 0000000000000000O000O0O00O0DOO

let g uncurry (x,y) = x + y;; 000000000 00000010000000000000

val g_uncurry : int * int -> int = <fun>

let gxy=x+1y;;
let h = g 10 in

(h 20) + (h (h 30));;
==> 80

let g_curry x y = x + y;;
val g_curry : int -> int -> int = <fun>

guncurry (00 000000000000 0OO0OO0OOOOOOOOOOO
O000)004int *» int 000 (D00 200000000000)01
U00000int0000 1000000

g.curry (00000000000 DODO0OOO0OOOOOO)004nt O
Ub010000b0Mint 0000 10000004int 0000 100
ogbobooobobooon

g1000funy -> 10 + y0 00000000
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Polymorphism OO0 OO O OO (0) Polymorphism OO0 OO0 O OO (1)

(1) 000000000000 O000000 Polymorphic Type O O
00000000 Polymorphism (Parametric Polymorphism)

OO0O00000Polymorphism OO0 00000000 O0OOOOOOOO e 0000 Polymorphism 0000000000

0000000000000000000000000000000 3 e I00000MONO000NO00OON00NoNononnn

000000000000000 oOoOooOOoOooOn

0 00 Polymorphism 00000000 M10000 (000000000 0. s U00000 int > int 00 Obool -5 bool [

000)00000000000000000000000000000 ¢ - tunx 72X int => int 0 00
00000O000%a -> ’a00000

oo0O 3000000000000
000 ’a0d0000(Q0O0O00O0)000O0O0OO0OODOOOO

e JO0O:Ofun f > funx > f (£ x) OOOO0O (Ca —> ’a)
-> (’a ->’2)00000
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Polymorphism OO0 OO0 OO0 (2) Polymorphism OO0 OO0 OO (3)

(200000000000 M D AODOOOUODODDODOOOOOO ADO

0000000 BOONDOOODOOODOOOOD Polymorphism (3)0000000000000000000000 overload 0000
(Subtype Polymorphism) 000 Polymorphism 00O (Ad Hoc Polymorphism)
e 00000000000 OMOPolymorphism 00000000000 ¢ 1000000 (0000000000)00000000000 (O
oooo 000000000000000000)0000000000
e 1000000 (00000000D00)00AOOOODDOOO noo
000000MO00ADOODOODODOOOOOODO0O0DOO o O: Java O overloading. JavaOD OO OO0 Ofoo00000000
0000000000 010020000000000000000000000000
e 0: 00000 Javal000Peint 00000000 OODOODODO nooooo
00000 ColoredPoint 01000 000000000000 e 000: 000000000000+ 0000000MOO00000
e 000: JavaODOOODOD toString 00000 0 Point 0000 Doooooooooooooooooidddlavadoooon
00 ColoredPoint 00000000 DODODODDDO (override 0000 bboooooboooooooooouoon

000020000000 teString0 0D OOOOODOONO))
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